207a-b.1 Exercise: aorist medio-passive of -p verbs.
In the second column supply the corresponding form of the aorist medio-passive; in third
change from singular to plural or vice versa.

Remember: the medio-passive of the aorist of iotnut is a regular first aorist.

Present medio-passive Aorist medio-passive Sing—>Plural or Vice
Versa
, ¢85ovto £¢8i60To0
1. Sidovtal
v ¢otoavto (1st aor.) €0TNoaTo
2. loTavtal
, ¢0et0 £€0evTo
3. TiBsTat
, £8000¢ £800 (€60v
4. 616000¢ ( )
Y €lo0e €10
5. leoOs
. ¢otnoarto (1st aor. £0TNOAVTO
6. loTatal N ( ) n
Y £LVTO £LTO
7. levtol
., elpeda lunv
8. lepeba H al
, £0¢usha £0£unv
9. TBcpeba s al
, £856unv £850ueba
10. 6iSopat K H
, £800 (€60v £8000¢
11. 616000t ( )




